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Introduction
RAN1 received a LS from RAN WG4 with a question regarding the definition of T0. The question from RAN4 is the following:
	In sub-clause 6.1.6 of TS 38.214, it is specified that:
If an uplink switching is triggered for an uplink transmission starting at T0, after T0-Toffset, the UE is not expected to cancel the uplink switching, or to trigger any other new uplink switching occurring before T0 for any other uplink transmission that is scheduled after T0-Toffset, where Toffset is the UE processing procedure time defined for the uplink transmission triggering the switch given in clause 5.3, clause 5.4, clause 6.2.1, clause 6.4 and in clause 9 of [6, TS 38.213].
On the definition and understanding of T0:
· When gNB provides sufficient time between the end of the UL transmission on the switch-from carrier and the start of the UL transmission on the switch-to carrier, in RAN4 understanding, the T0 is the starting time for an uplink transmission on the switched-to carrier from network scheduling perspective and the starting time of actual uplink transmission from UE perspective. 
· When gNB does not provide sufficient time between the end of the UL transmission on the switch-from carrier and the start of the UL transmission on the switch-to carrier, and the switching period is located at the switch-to carrier according to the RRC signalling uplinkTxSwitchingPeriodLocation, UE may omit uplink transmission on certain symbol(s) on the switch-to carrier. In this case, is T0 the starting time of uplink transmission from network scheduling perspective, or the starting time of actual uplink transmission from UE perspective?



[bookmark: OLE_LINK33][bookmark: OLE_LINK34]Discussion
According to the definition of T0, it should be the starting time of uplink transmission from network scheduling perspective. 
[bookmark: _GoBack]Because T0-Toffset is used to provide a deadline for UE to make the switching decision. Only the UL grants UE received before the deadline can impact the UL switching results. So T0 cannot interpreted as actual uplink transmission from UE perspective, which can lead to not enough time for UE to prepare the UL transmission. Such as Figure 1, UE has to prepare PUSCH ready at point 1, even it does not really transmit in the several starting symbols. On the other hand, if T0 is point 2, UE even cannot finish the PUSCH processing and UL Tx switching. So T0 should be the starting time of uplink transmission from network scheduling perspective.


Figure 1: No sufficient time for UL Tx switching
Therefore, the draft reply to RAN4 question is as follow:
[Draft] Reply: when gNB does not provide sufficient time between the end of the UL transmission on the switch-from carrier and the start of the UL transmission on the switch-to carrier, and the switching period is located at the switch-to carrier according to the RRC signalling uplinkTxSwitchingPeriodLocation, UE may omit uplink transmission on certain symbol(s) on the switch-to carrier. In this case, T0 is the starting time of uplink transmission from network scheduling perspective.
Conclusion
In this contribution, we discuss and present our views on issues in the RAN4 LS on Rel-18 Multi-carrier enhancement for NR:
[Draft] Reply: when gNB does not provide sufficient time between the end of the UL transmission on the switch-from carrier and the start of the UL transmission on the switch-to carrier, and the switching period is located at the switch-to carrier according to the RRC signalling uplinkTxSwitchingPeriodLocation, UE may omit uplink transmission on certain symbol(s) on the switch-to carrier. In this case, T0 is the starting time of uplink transmission from network scheduling perspective.
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